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20071028| S3F M35 100m |Z8)I 3F% 39 11.40 +1.2|M0 ik 35 11.45 +1.2|/FA & 37 11.51 +1. 2 | 3 37 11.55 +1.4|kk TE 36 11.65 +2.3|BAX EX 39 11.66 +1.4|=E (=& 36 11.68 +1.4|ER g 36 11.69 +1.4
W - AR NN FE:FE wa A KR : KR RIE R dtisid - dimE HE - HE
20071028| S3F M40 100m |H#5 FE# 40 11.34 +1.7|/h k48 44 11.59 +1.7 [/l 8IE 41 11.59 +1.6 i@l —& 41 11.68 +2. 3|5k #HB 40 11.76 +1.7| &M *iE 42 11.80 +1.6|&ikR PR 40 11.87 +1.7|#HE =X 42 12.03 +1.6
PN RPN RN @) ES: K& RIE Rk EH:EH ES: K& E eSS PN PN
20071028] S3F M45 100m [/NE  #Rth 48 11.79 +0.1|&8 #%E 45 12.01 +2.1| &M Fz 48 12.19 +2.1(KJI A 46 12.22 +1. 0 | R HE—ER 48 12.24 41,0\ ME 45 12.26 +1.0|&™ = 46 12.33 +1.0|h# FA 45 12.33 +1.0
AR AR ES: K5 EESIIRE ] BB : fEA Al &N E eSS BiE - BIE BE BB
20071028 BF M50 100m |#kfk M 54 12.24 +0.5|iF1E #= 54 12.25 +0.5(KI B— 53 12.29 +1.1|0BE #E 50 12.34 +0.5 |88 K A% 50 12.35 +0.5|81% @4 50 12.37 +0.5(h#t %HB 53 12.49 +1.1|[EE #BE 50 12.51 +1.1
EF AT NN HE  #BE we - wA FCEITIEE L E ] RIE . RIB B HR FELL - R
20071028| 53F M55 100m |#/BE #3H 55 12.21 +2.2|%% B— 57 12.54 +2.2|\LE IE#A 57 12.57 +2.2|RBNER 56 12.69 +1.3|fE@ #ER 57 12.70 +2.2|@  BE 55 12.70 +1.3[@A IEtE 56 12.73 +2.2 R8s Rl 56 12.87 +1.6
BiE BIE R BN #HEE - B RE: &EE ERE:ERB FE:FE RN @) B HR
20071027| 5% M60 100m |HES Wk 60 12.30 -0.3|fB#k: F&E 61 12.71 0. 3|+ BfE 61 13.15 0. 3|k BAX 61 13.19 +0.9[&ARLITS 64 13.39 +3. 0% HZ 60 13.40 +0.9|mMF #B 64 13.41 +0.9(F#% EE 64 13.41 0.3
REA : fEA NGR ERE: ERE RE: &EE REA : fEA FELL - R BiE - BIE ZH: BA 26 - 18
20071027| 53F M65 100m (85K % 66 13.17 -0.1|5F5R BH 68 13.23 +5. 1[)IlsH B 65 13.33 +5.1|¥8% RB) 69 13.34 +5.1|h#t  BEF 65 13.36 -0.1|KE F&sh 66 13.44 +3.2| KT #fE 69 13.51 +5.1|&H #R 66 13.71 -0.1
R BN E SR FE:FE B HR K5 Ry 26 - 8 B - B BE BB
20071027| 58F M70 100m |t/ = 70 13.92 -0.6|—/# 15§ 70 14.04 0.6 | K5 F& 70 14.20 0.6 |[f*® EtIE 70 14.23 -0.2[#HE KR 72 14.28 +1.8|F1@ %A 70 14.30 +1.5(cp)Il #E— 72 14.36 0.6+ IEHF 72 14.46 +1.8
dtifsid - dimiE RIE - RiG #HEE - B I : IR SR iR WD - RER BE:HBE BiR : BiR
20071027| 58F M75 100m (4t Bk 75 13.90 +2.9(FH# =8B 71 14.23 +3.0(NE & 76 14.64 +2.9|%E & 75 15.44 +3.1;@N KB 76 15.54 +3.1(H# L #H 76 15.66 +2.9 |$%HEH E 75 15.78 +3.1|=W £ 75 16.19 +2.9
=R ER ERE:ERB REA : fEA RN ) E eSS Fh: &N B HR BEA : BEA
20071027| 53F M80 100m |’ =& 81 15.92 +3.0|/II%F %1 81 15.97 +3.0|flE A 82 16.06 +3.0|&®/E @k 82 16.40 +3.3|1LE  ZEth 82 16.40 +3.0| 52 A 80 16.62 +3.3 |/ R 81 17.18 +3.0|188 {E%& 83 17.25 +3.3
ik dtimiE - deiEE B B ks R B’ NN R B’ 5% - 5%
20071027| 5% M85 100m [lLift IEx 87 19.06 (M Sk 85 21.52( KMt B2 86 21.83(m15 EX 88 26.32
R+2.17 NN BiR : BiR wa A wA A
20071027| 53F MO0 100m [i&:& JRAER 90 20.02|=8% IEX 91 21.15| =K #en 91 21.34
BA:+1.0 KR : KR NGR KR - B RE: &EE
20071027| 53F M95 100m |K&F &— 98 50. 35
A:+1.0 K5 Ry
20071027| 53F M35 200m |Z8)I $F% 39 23.10 -1.6[/hEE f& 38 23.21 -1.6|#fE #® 37 23.47 2.0 |4k IR 37 23.65 -1.6|4t 21 37 23.75 -1.6|%R #z 38 23.82 -1.6|H%A HTE 37 23.98 +2.0(tkfk xE 36 24.08 +2.0
WD - AR FCEIIE: EI] we - wA FE:FE &2 - 18 RE: &EE FE:FE PN RPN
20071027| S3F M40 200m |H#5 FE# 40 23.34 +0.T|/\#k 48 44 24.04 +0.7(BR &H 40 24.27 +2.3|&ME #E 42 24.38 +1.8|ER HE 40 24.50 +0.7|5B#% #wSB 40 24.51 +1.8|KHE & 42 24.93 +2.3| BNl TR 4 24.95 +1.8
PPN LSl CES]] RE: &E ES: K& RN AT R ER BECHE BE&E
20071027| 53F M45 200m (&= 7 49 24.87 +0. 8 |TEARIE—ER 46 25.15 +0.8(&f —i 46 25.40 +0.8|&H = 46 25.48 +0.8|KJIl AX 46 25.54 +1. 1|1l HE 46 25.74 0.0 FA 45 25.83 0.0|&x ME 45 25.99 0.0
1B B RE: BER ZH: BA BiE - BIE REA : fEA =E:. =% BECHE RN AT
20071027| 5% M50 200m [#5K Ak 50 24.99 +1.8|0EE FHE 50 25.25 +1.8 |k M 54 25.38 +1.8|3% @A 50 25.94 +1.1(EE #E 50 25.97 +1.1|KiI B— 53 26.06 +1. 1|+ %H5H 53 26.31 +1.8|HH HHH 51 26.52 +1.1
RN AT wa A EF AT RIE R FELL - R HE - HE BB BEHE
20071027| 5% M55 200m [iRA {RiE 55 25.89 +0.3|MAiH BE 55 25.89 +0.3(uA IEA 57 25.94 +0.3[RANIEX 56 25.99 +1.0[%% K— 57 26.03 +0.3 (&M FnER 57 26.30 +0.3|7AM G 57 26.86 +1.0(fEx FM# 56 27.01 +1.0
ES: K& FE:FE #HEE - B RE: &EE R BN ERE: ERE wa A iR B
20071026] 53F M60 200m |fE#k: FE 61 26.53 -1.3|RR %= 61 27.29 -1.3|MF #*5 64 27.57 0.0|%ux 5A 60 27.95 -1.3[AH HZE 60 28.14 -1.3| L1l FEBy 61 28.22 0.0(&iD #n& 60 28.65 0.0|&EKRLITS 64 28.77 0.0
ERE:ERE RIE ;- RiB ZH: BA BiR : BiR TR BIR B - RER T - B FELL - R
20071026] 53F M65 200m |l B 65 28.14 -2.9(#B% RE 69 28.30 -2.9|85K B 66 28.38 -2.9(sh#t B 65 28.55 -2.9|KTF & 69 28.75 -2.9|&AN # 65 29.24 -0.7|88K BA 66 29.35 -0.7|=# stk 65 29.69 -1.7
FE:FE B HR R BN K5 Ry 1B B we A PN PN we A
20071026] 53F M70 200m |7i% ) n 29.62 09|t = 70 29.67 -0.9|—/ % 1&g 70 29.92 -2.4|mrep B 70 30.18 -0.9|/"MNR ERE 70 30.52 -0.9(R® FIE 70 30.53 -2.4|/E & 70 30.63 -1.3|¥E S 72 30.63 -2.4
Y K dtimiE - deiEE RIE - RiB 126 - 8 B B I : I BB : fEA Rl Pk Rl
20071026] 53F M75 200m (4t Bk 75 29.50 -0.4|NE £ 76 30.83 -0.4|FE Rz 71 30.91 -0.4[/hl HX 11 33.35 -0.4[FN KB 16 33.35 -0.4|E2A 16 35.64 -0.8|/MUA & 75 36.25 -0. 8 [FEEHF 11 36.78 0.8
=R ER NGR BER : BER A : AR R B’ RN @) ZH: BA ZH: BA BE:RE
20071026] 53F M80 200m |R’H =& 81 33.37 -1.0|&E #Wk 82 34.06 -1.0(#eH A— 80 35.39 -1.0(uE Ht 82 36.35 -1.0(##H# #H— 81 37.17 -1.0|&&8& E#F 83 38.65 -1.0(tB RE®M 82 39.20 -1. 0 |BREA® 80 41.22 -1.0
IR PR B iR B &N R BN FELL - R E8 kR B HR BE:.RE




20071026( ZF M85 200m |AKHKf & 86 52.50(#15 |X 88 71.29
B-1.8 e A e A
20071026( ZBF M0 200m |iE:& RAER 90 44.64
&:-1.8 KBR - KB NGR
20071026( ZBF M95 200m |AKF Z— 98 110.24
A:-1.8 X5 K5
20071028| 53F M35 400m |{c@k #R 37 52.10(ZEN 37 39 53.05(/N\FE & 38 53. 37 |#i& ® 37 53.39(ER #HZ 38 53.57|4kE TE 36 55.21(E%k R 36 55.80 (A H 37 56.27
FE:FE AR - AR EC BN 9] we A £E: EE KR - KBR [i=E R =t FhL: &N
20071028 BBF M40 400m |FHiE HE# 40 52.20(BR RH 40 52.95(ithF 40 53.77|tk#% %8R 44 54.68(5)IITE B2 40 55. 402K mRE 42 56.77|AHE # 42 1.00.96| A IEX 44 .03.13
KR : KBR NNR, NGR £ &E i BE Wifts - Wi HE : HE [IT]=[eyiT]a] BE:BE HE: ®HE
20071028| 55F M45 400m |fEAREE—ER 46 55.81|®&# FE 48 56.54 (& ME 45 57.34(mE E— 47 57.53|% 49 59.48(lkk =1§ 48 1.00.47|38 & 45 1.00. 51|11 FnE 45 .00. 63
B : BE EkE - 2 EC BN 2] EC BN 9] EC BN 9] Fh & K5 K9 1= Eiia]
20071028] 55F M50 400m [#5K AX 50 56. 29| A #® 51 59. 14 [{EXEFpER 53 59.45[/hE MR 52 59.64|t 58 BHE 50 1.00.26|KH —# 52 1.01. 29| RSB 50 1.01.30| =& it 54 .02.33
wWEN @R WA : HR &% : K% KR : KBR 13- B R R ZE: = Bl BN
20071028| 53F M55 400m |MHik RB&E 55 58.80 (% ehAl 55 1.00. 90 |8k FE#S 55 L02.12|RB X 59 .03.27| R 56 1.03. 58 |fEE  HiA 57 1.04. 46 |4ER % 56 1.04.66|50% 7EX 56 .06. 44
FE:FE KR : KBR BEAR : R T W BiR : BIR AP FOFRL L& : K& B P
20071027| 55F M60 400m (mF HH 64 1.04.84 |18 5ED 62 1.05.13|%r%  BABA 61 .05 53|1EKR B 62 .06.26 k% & 63 1.06.71|&% X 64 1.07.66|7EH BE 60 1.08. 14| =8 ®RiF 61 .08.18
BH - BH HE : HE HE  HE REAR : BB -] L& : K& [T OTE) BiR : B
20071027| 53F M65 400m |FEE Fi& 65 1.04. 54|/ #ExX 66 1.04.83|8hK ® 66 L05. 79| L BEE 66 .07.41|%%E =HF 66 1.07.56 ;4 Bk 66 1.08.58| &I # 65 1.08.67|5K Hx 65 .09.19
IR R EE R HE R BE R FEL BH : BA [IT]=[eyiT]] IR IR
20071027| 5BF M70 400m |frep %% 70 1.07.26|fBt: FE 73 1.10. 47|18 Bz 72 L32[ER EEF 70 ALBAINR ERE 70 112,63\t R 70 1.13.85|f*® &tE 70 1.14.45|R48  5— 70 .16.53
1EM : 1B ERE: ERE REAR : BB IR B B IR IR IR IR K5+ Koy
20071027| 5F M75 400m |BH &z 11 1.13.19|I8 BHE 75 117201011 &R 11 AT 74BN KRB 76 .18.95|8% Ea 11 120 11phviE ® 15 1.25. 68 |FEAEM m 1.27.82|482M &4t 76 .31.56
WA : HAR BH - BH HE : HE RN R B =S BH : BH Ak AL BH - BH
20071027 BF M80 400m |&#E #X 82 1.19. 34|83 A— 80 1.21.04|1588 EF& 83 . 36. 34 |BREA % 80 .41.83
B P Al AN HE:EE BE AL
20071027 BF M0 400m |{£Fk fFRk 90 2.22.66
RN )
20071026( BF M35 800m |iEZ KE 35 2.00. 75|47 A 37 2.08.25| 1A BRI 39 .09, 02 |FEE  #EFE 38 L1144 |HAR AR5 37 2.13.15|#%A &= 37 2.17.74|\uAk 05k 36 2.20.06 |7l &0id 38 .23.94
RN R KR : KBR R EE [IT]=eyiT]a] [IT]=[eyiT]a] N EN 1EM : 1B [IT]=eyiTa]
20071026] ZF M40 800m |BR %] 40 2.01.62| K15 # 42 2.12.05 )i+  FRi# 42 13.32| % ’— 40 14.66| A% #E 40 2.15.57|KF RIx 42 2.16.26|/\¥  BASA 40 2.17.61|5"AK WA 42 18.91
R EE EGR R FEL L& : K& [IT]=eyiTa] [IT]=eyiT]] L& : K& RN R AEF AT
20071026] 53F M45 800m (/M %58 47 2.09.53| R+ #HfE 47 2.09.57|hE %8 45 L10.76@ #— 45 12.31 |k B 48 2.17.48| KRBT 17 45 2.17.92 |41t 18X 48 2.20.81|BHF# EZ 45 41,24
AR - AR K8 ES 18 : 18m WA A B HB WA A B : BE K5 ES
20071026( 5F M50 800m |5 * 50 2.13.76|1L 5 50 2.14. 41|18 BE 50 L 17.59|AH #® 51 191654t F5e 50 2.23.23|%=48 FIBH 54 2.8.771|1BE #= 50 2.26.73|i% = 51 .28.74
HEHE BH - BH 13 B WA : HAR [IT]=eyiTa] RN BE:HE [1T]= 1]
20071026| 55F M55 800m (21| = 55 2.20.57| %L i 57 2.24.34 | 1% @A 55 . 26.32|5R i 55 .28.81| K A 59 2.33.23 |8k EAI 58 2.39.52|EF| =1 58 242 10|RRAS & 58 . 05.91
HEHE IR IR KIR - KBR [IT]=eyiT]] IR B ERE: ERE 1EM : 1B BE: ®HE
20071026( ZF M60 800m |#2& HEE 62 2.23.87|=% s 64 2.28.36|HIH # 63 .29.40| KRB —% 62 .29.60 %R B 63 2.29. 88|k "R KIET 62 2.30.93|7EH HBE 60 2.31.38| MR Fi 60 .33.49
1EM : 1B K5+ Koy WA : HR KR : KBR BB 18 : 1B [ITE-TINE] BE:HE
20071026( Z-F M65 800m |/ML E— 65 221 M| R\ ER 65 2.28.24|FE BiA 65 .28.89 /A fEPUER 66 .28.90(=R B2 66 2.34.3718)1 - 66 2.38.87|K#% 1R 66 2.42.81|&F L) 67 . 43. 61
BH: BA NGR -] Bl E L& : K& ERE: ERE [T OTE) R EE T W
20071026] 53F M70 800m |[ifgk g n 2.42.27|%5 &z 72 2.43.26|k =S 70 L48. 74| KNI IERE 72 .49.47|2% ER 3 2.51.80|@E MRth 70 2.53.02|#@ —IE 70 3.01.95|#) 2 72 .07.25
BE: ®HE REAR : REA REAR : REA MPHE P RN R ERE: ERE BEC: BE BIE : B
20071026] 55F M75 800m (eIl ] 11 3.08.89|/MIl & 11 3.09.99
AL FOFRL T W
20071026] 53F M80 800m =MW |t 83 3.12.99|## A— 80 3.20.53|k< K fEE) 81 .36, 21/ E 2 E 80 .39.24|mK X 80 3.52.86|%%® IEA 84 4.00.12
ERE: ERE &l AN B B BE AL ERE: ERE BH - BH
BF M85 800m




20071026( ZBF M0 800m ¥R A 92 5.32.21
KB - KBR

20071027| 55F M35 1500m [ILZA BEF 39 4.19.61|F%H & 36 4.22.96 |fE 5 EEH 38 43174180 % 38 4.32. 28|k Rk 38 4.33.51|#2R #%88 37 4.37.36|#=E HAB 38 4.46.77|F%L 018 39 4.48.01
£E: BE ZE: = oA RE: EE KBR : KBR we A we A we - wA

20071027 BF M40 1500m |BH EE 43 4.21. 1455+ R 42 4.21.09|2X #H& 42 4.29.33|8% 1 4 4.31.21| K5 #% 42 4.31.65| A% HE 40 4.32.46|/N%  BASA 40 4.52.32|5@ B— 40 4.56. 54
K5+ Ko RN REAR : REA wWEN @R AW : @ [IT]=[eyiT]a] wWEN R BB

20071027 BF M45 1500m |HAR K& 49 4.29.46| K¥  HfE 47 4.30.99|FHE # 47 4.31.42:&K F# 46 431771/ B8 47 4.33.45|EH BB 49 4.34.30|%)11 IEA 47 4.36.40|55% = 45 4.48.54
1EM : 1B L& : K& L& : K& HE : HE T WA [IT]=[eyiT]a] KR : KBR FE:FE

20071027 $-F M50 1500m |5 # 50 4.34 11|l ®fE 50 4.34.50| 8% B3R 53 4.36.54|IlLN =& 50 4.38.37):AH# A 53 4.39.65)% @A 52 4.44. 13|=% 1 51 4.46.68|iTAt  FHEL 50 4.50.17
HEEE B BA =&: =% HEEE R FEL RN B HE [IT]=[eyiT]a]

20071027| 55F M55 1500m (21| = 55 4.42.17|74 %K 57 4.42. 41| TE BB 55 4.46.68| 1L F1T 55 4.48. 78 |HFkEtA 57 4.53.32|R R 55 4.55 42| LE X 56 5.02.20|Bx EZE 55 5.03.63
HEHE BEC: BE 13- B B1R - B WA A [T} = T KR : KBR £E: EE

20071027 BF M60 1500m |25 HEE 62 4.50.19|/h& EE 61 4.53.99|itKk & 61 4.57.58|hi8 B 61 5.00.56| =W &S 64 5.02.42|i%:8 63 5.02.57 %4 Fi 60 5.03.12|%c% BRZ 61 5.03.39
1EM : 1B wWEN @R =R :FR deimid : dtiEiE K5« Koy BB BE:HAE BH - BH

20071027| 55F M65 1500m [#TE fEPHER 66 5.10.36 |28 o 66 5.14.26)/ML EH— 65 5.17.12|8% K= 65 5.17.16|8)1 - 66 5.21.76|K#% 1R 66 5.28.06| %+ = 65 5.29.19|& L) 67 5.40.08
RN ERE: ERE B BA RN ) [T OTE) R EE BiR : BIR AR - AR

20071027 SBF M70 1500m |FEH E—ER 70 5.38.20|FIAR E£— 70 5.41.76 |[{£5k & 73 5.46.51|&% IEA 3 5.50.68|iEE it 70 5.53.06 |8 iz 72 5.53.59|BR Rt n 5.53.64|= RE n 5.54.63
K5+ Koy BiR : BiR HH:HH wWEN R ERE: ERE RER : REA wWEN R [IT]=[egiT]=]

20071027 $F M75 1500m |#kEH &l 75 6.15.57 ()il @7 n 6.20. 78 [#AFE  ZE 75 7.13.40
AEF AT AP FOFRL KR : KBR

20071027| 55F M80 1500m [EMR |t 83 6.46. 42 (AZEH R— 84 7.13.65|mA  Hk 80 7.16. 19[4~ K 18R 81 7.40. 34 ;X2 E 80 7.46.97
ERE: ERE KR : KBR ERE: ERE B B BE AL

20071028 5-F M60 3000m |28 HEE 62 10.23.01 (/& BEE 61 10.25.03|hi8 EE 61 10.29. 47|k &K & 61 10.30.47|iE2 63 10.38.05[dL4t  H— 64 10.39.65 (4% M— 61 10.56. 71 =g B 64 10.57.82
18R : 18m RN R el - dbisE =R :FR #5885 RN ) B BA K5« Ko

20071028 BF M65 3000m |=& Rk 66 11.00. 62 (AT fEPUER 66 11.05.80|E#E fR= 65 11.23.32| k&% R 66 11.39. 74|RR  #3& 66 12.24.96
ERE: ERE L& : K& RN R R EE L& : K&

20071028 5B-F M70 3000m |FEH E—ER 70 12.07.82|FOAF £— 70 12.13. 74 1% & 73 12.28.70(= RE n 12.31.54[BE Rt 70 12.35.77 (& E& n 12.49. 83 [LLu#f Hi n 13.47.97|&1 9 n 14.21.15
K5+ Ko BiR : BiIR HH:HE [IT]=eyiT]a] ERE: ERE B B [IT]=eyiTa] BiR : BIR

20071028 ¥ M75 3000m |#kEH Bl 75 13.15.27(4E) & 15 13.42. 45 |¥0FE  HH 75 15.19. 75 ;&N & 78 23.36.50
EF AT NGR T WA KR : KBR A : IE

20071028| 55F M80 3000m [EMR |t 83 14.25.37|EEH =— 84 15.24. 04|mA Hk 80 16.33.58 (%72 IEA 84 17.00. 40
ERE: ERE NGR KR : KBR NGR ERE: ERE NGR BH : BA

20071028 BF M35 5000m |FFH HEE 38 16.15.41|RE #48 35 16.53. 46 [t Bk 38 16.53.67|#E KM 38 17.41.02 )%\ %z 38 18.35.27|&%M@E #— 38 18.56.88(FH 3= 39 19.51.62
=&: =% [T} = ]| KR : KBR wa A L& : K& BH : BH L& : K&

20071028| 55F M40 5000m (EX Z& 42 16.13.07|A% #&E 40 16.30. 15| X485 #4 42 17.16.17 %% ’— 40 17.21.16[&FH X& 40 17.46.45 ({7 XK= 41 17.49.06 AT % 40 17.50.03|R %A 4 19.18.87
REA : BER [IT]=[eyiT]] AW : @ [IT]=eyiT]a] REAR : REA HE : HE L& : K& L& : K&

20071028 BF M45 5000m |HA K& 49 16.19.29 ;&K Fnst 46 16.21.86 (%)l IE& 47 16.36.46|HE #1 47 16.44.02 | K+t fE 47 17.25.03 (AT i&5h 45 17.42.94|#E #EZ 48 20.15.08
18 : 12m HE : HE KR : KBR L& : K& L& : K& [IT]=eyiT]a] BiR : BIR

20071028| 55F M50 5000m |&&/IFIE 50 16.08. 21 [BRA R 51 16.49.31 3R H# —% 50 16.59. 10| & * 50 17.02.83 % IEA 52 17.11.18|8% B3 53 17.13.98 (%1l 15 50 17.28.48(FA HE 52 17.32.79
£E: &R 18 : 18m 1k - 2 HE - HR NN =§:=8% B - BA ERE: ERE

20071028 BF M55 5000m |T&#E =K 57 17.14.30| FiE &5 55 17.50. 26 (L 547 55 18.03.05(B3 IEE 55 18.05.62 (R R 55 18.15. 67K #HE 57 18.26.83|F/# 1§% 58 19.47.78|hE EXx 56 20.14.29
BEC: BE &3 B B1R - B8 R EE [IT]=[eyiTa] L& : K& [IT]=eyiT]a] RN R

20071028 BF M70 80mH |EE®F HKIE 70 14.57 +2. 2|91l #E— 72 14.61 +2.2|BK XX 72 14.66 +2. 2|8t &R 70 14.87 +2.2|#E@ 2 72 15.00 +2. 2 | &Rt n 17.93 +1. 3|7k k— 73 18.10 +1.3|#%E HE n 18.22 +1.3
Wi - W BE:BE R - R b - FFbL jtisid : dtimiE ‘L RE FE:FE akE - 2

20071028 BF M75 80mH &L &k 75 15.40|1# L #H 76 18.31|/M% =i n 19.08

B+1.3 REK - BEK Fh: &N e n
20071028| 53F M80 80mH (MG T— 80 15.09(@F =& 84 19. 64
B+1.3 Wi - Wi NGR [IT-CTIET)
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